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UNIT 3 ASSESSMENT REVIEW Prea@
SOLVING EQUATIONS

Solve the following equations. Check your work with a calculator. "
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11. Olivia purchases a DVD movie priced at x dollars. The sales tax is 6.5%. '

a. Write an express:on to represent the totdl cost of the movie..

X+ O.065X%

b. If the movie is priced at $21.99, what is the total price of the movie, mciudmg tax?

T= (21.93) + 0. 065 (21,99
|T= 8334
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12. A model airplane files 18feet in 2 seconds How many feet does it fly in one hour?
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- 13. Coach Torres wants to purchase football t-shirts for his team. The printing company charges S300 dollars
for the fﬁ‘ 30 t-shirts. The charge for additi na! shirts is s;x times, the difference between{the number of shirts
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a. Write an equation that Coach Torres can use to determine t, the number of shirts he can buy if he

spends ¢ dollars. Q - SOQ _}- L:, (h—b ,.,3 Q\

b, If Coach Torres has S660 in his budget how many t-shirts can he buy? c =l
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